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MONTH OF OCTOBER
TEST IV

UNIT - I GENERAL SCIENCE - ZOOLOGY
UNIT X - APTITUDE AND MENTAL ABILITY

Two factors making up a pair of contrasting characters are called

a. Dominant Character b. Recessive character

c. Chromosome d. Alleles

Bm eumdWmer  STJewider @b  Cmmg  uemiBeT  CHTAIBIUBSBEGS
&BITIJ GUOTLOT 63T60)6) STl DIEWLDEBLILI(H |66

a. @mEG L6 b. @®®HIE uewL

c. &GymGrGamb d. &16065605%6I

Rod shaped chromosomes are called as

a. Metacentric b. Telocentric
c. Submetacentric d. Acrocentric
BaxmeL augar GGrmELoTEaFTIDSH6IT STl DIELDHBHLILIHEB 6T
a. QL LrOgen fla b. 1eBsorQaein M
C. g6l LTege M d. 968meFe M
Match the following
A. Basic Principle of heredity 1. Watson and Crick
B. Chromosomes 2. Hugo De Veries
C. DNA Model 3. T.H. Morgan
D. Role of chromosome in heredity 4. Waldeyer
E. Mutation 5. Mendel
A B C D E
a. b 4 1 3 2
b. 3 4 1 5 2
c. 5 4 2 3 1
d 3 4 2 5 1
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CUT(HSHHIH

A. oyiweler Sl HHHIAID 1. aurl &6l LOBWILD &M
B. &GymB@unBgmibaait 2. arulBam 1o alliflerd
C. DNA wraf 3. T.H. Gunitaeir
D. wyiweder &CynGom@amibserflen LMIE 4. eumeo@LwiiT
E. 568 wissid 5. GILDEUITL 60
A B C D E
a. b 4 1 3 2
b. 3 4 1 5 2
c. b 4 2 3 1
d 3 4 2 5 1
Biogenesis was speculated by whom?
a. Oparin b. Louis Pasteur c. Haldane d. Khorana
o it Umpliys Casmium’enL sadldhgeuT wmi?
a. gumflesr b. euierd wmerdL T c. GameLL 6T d. Qasmymeom

Who discovered the radioactive carbon dating method?

a. ].W. Harshberger b. Lamarck

c. Haldane d. W.E. Libby

sHNWSHS SATUST STV D66 (LPEDMBEMU HEWIL MIHSHeUT UITT?
a. J.W. amrirerdOLIiTeiT b. eomonités

C. amme0BL 6ot d. W.E. a9

Who is father of Indian paleobotany?

a. C.M. Gupta b. Manju Sharma

c. Birbal Sahani d. Khorana

BphHw 0HT60 FHTeugalulevles HHengd WITT?

a. CM. gusn b. wehs &om

c. Umumed Fament d. Qamymesnm

Atlas 66 a rich wheat variety

a. Protein b. Fat c. Carbohydrate d. Vitamin
I 6060 66 a LFibs Camgiem FaHlb

a. Uysib b. Gamupliy c. amBurenasl Gy d. el Lifer

Which one of the following chemical used for doubling the
chromosomes?

a. Restriction endonuclease b. Acetyl CoA carboxylase

c. L - carnitine d. Colchicine
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LeTeu(heueieuBmie  6lbHoeureiim &GrmGon@amid erewtenlidbmaamuw @JL19sHs
LweTUGSSUILGLD CouglliUT(HeT HLEGHWD?

a. OrervolMager eremrGLmmHIWLSH6TGWwend

b. @ifll ey CamBw amiursdBeverd

c. L — anirelenLeor

d. smeodde

Rice normally grows well in alluvial soil but is a rice variety

produced by mutation breeding that grows well in saline soil

a. Atomita - 2 b.IR -8 c. PNR-102  d.PNR-381

OBeL  OUTHIUTS  QUEHIL6D  Loewienlled  OFINSHEH  aUeNTHBSEH.  HLEIT6D

FHSHIOTBBSHH  clpevld 2 ML  OFuiwiul L o1 OF60 J&HLD

® ol HIWD aUTUIHS LoewTenlled OFINGHSHI U6 (HLD

a. oL Lmicer — 2  b.IRS8 c. PNR -102 d. PNR - 381

Match the following

A. Physical Mutagen 1. Black rot

B. Tritical 2. Nitrous acid

C. Chemical Mutagen 3. UV rays

D. Pusa Shubhra 4. Bacterial blight

E. Pusa Komal 5. Manmade cereal
A B C D E

a. 3 4 2 5 1

b. 3 5 2 4 1

c. 3 5 2 1 4

d 3 1 2 5 4

QUT(HSHBHIH

A. Bupliwe FhHd ITBBHHTWIQH6T 1. SBILIL| DILHSH6D

B. 19l 19&@s60 2. eWBLIeD Silevld

C. Gougled FBHDTBBSHHITCIIGHEI 3. UV sglisel

D. usr augm 4. unsleflul HmIsH6eL

E. usr Gsmoed 5. D6N&He o (Heumdhalul Hreonuid
A B C D E

a 3 4 2 5 1

b. 3 5 2 4 1

C 3 5 2 1 4

d 3 1 2 5 4
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Who developed the DNA fingerprinting technique?

a. Eli Lilly b. Alec Jeffrey

c. J.W. Harsbberger d. W.E. Libby

19.61601.6) @lgev Cremad GFHTPHeomHI LUHemd GobuBSHSHWweuT wimT?
a. 6168 6leveV) b. o0s O3..L6F

c. JW. amnierdGLiTasiT d. W.E. a9

Which one of the following is lysine rich maize hybrids?

a. Protina b. Rathna c. Shakti d. all of these
LTledT61(Th6veaTeUB N3G 611 H0leUTEIT ] 66V 60T BlenmH S aiflwGeur (B
D& HTFGFTOMD HLGLD?

a. yGymgeorr b. y&Hert C. 558 d. @mea SmIHSEID
Golden rice can prevent deficiency

a. Vitamin B b. Vitamin C  c. Vitamin A  d. Vitamin D
sns i GMBUTL ML HHSHHBSI

a. el Lwer B b. el Lfer C c. ellLfar A d. el Lifer D

is the scientific process of developing crop plants enriched
with high levels of desirable nutrients

a. Biofortification b. Biomagnification

c. Bioremediation d. Bionics

Al(pOUSSHHS 261l L FHHIH6T SRS ULTHTOUIEISmET 2 BLSHFH Gguiwl
LWSTLGSSLILBLD Sifialuied (Lpemm eTeaTLILI(HLD

a. uBwmBunmgLIGsa 6ot b. uBWITGL&eLIBsa 6bt

c. uBWTGIToIBUIgEsT d. uGuimeiderd

Which one of the following replicates only inside the cells of other
living organisms?

a. Bacteria b. Yeast c. Virus d. Protozoa
Leiteumeuateupmien eibHoeunaim LIp o ulflemiseaier Ggeosefanie Ll HGLD
QUHBBID DML BH6oTN360T?

a. umleflum b. merdLl C. 6MEUJ6ID d. yGym GLn@zmeur

Which one is called as sunshine vitamin?

a. Vitamin A b. Vitamin B c. Vitamin C  d. Vitamin D
b HOUTHIN Gl el emeul L6 61601l DIenLPE SIS 6513601 ?

a. el Lifler A b. el Liflesr Bio c. allLfar C d. el Lfer D
Which disease weakens the bones and makes it brittle?

a. Osteogenesis b. Osteoporosis

c. Hyperostosis d. Fibrodysplasia
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GTQIDLIBEMET  aIIAINSEHF CFUIFH DUBOB 2 MLWS Fnlgul [HeDeVHEG

OCameni® OFevaud GrTul 61g)?
a. 9LeroIgBGuITGleyeldlerd b. eeroCuTCLTGyTdlerd
C. emamlILToLeELTlerd d. ewuliBymgerdLiGermdum

Which disease caused due to Iodine deficiency?

a. Goitre b. Hyponatremia

c. Nyctalopia d. Myasthenia Gravis
SIGwmgerr UBBTEGemBullermed gmubLD Gmpmul e1g?
a. STUILT b. ewamtiBumetmMioluwim

C. ML Geomiuwim d. wwrervgeiwm HGyaierd

Consider the following

Assertion (A): Haemoglobin contains iron

Reason (R): Iron deficiency leads to Anaemia

a. Both A and R are true and R is correct explanation of A

b. Both A and R are true and R is not correct explanation of A

c. Aistrue and R is false

d. A is false and R is true

LedTeu(heueToUBemMm LIS

gaBm (A): asCuorgGemmiielsd Gl o 6ieng)

snyend (R): @mbLs Gopunh Srssstms Grramu gBLbBSSHISBS
a. A ppid R &f wppid R esug A el sflwmer elendasiongd
b. A wmpid R af wBmd R eemug A alBg Fflwmer elerdsioeeo

c. Agfl spemed R sHaum)

d. A sam spemed R &

Which is the chief source of energy?

a. Proteins b. Fats c. Carbohydrates d. Vitamins
SMBEN6L HTHnIgul LIFHTeT cLpeOlIOILIT(HET 61&H)7
a. LJHmIB6 b. Gamupliysme

c. smBurenaml Gyl Gser  d. el Lifeisel

The world food day is celebrated on

a. 16th October b. 16th June

c. 15t October d. 15t July

® 0% 2 66| HID HWLLNgHSLILGBLD HT6IT
a. 916Ut 16 b. syeir 16

c. o1BGLmuT 15 d. egremev 15
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Match the following

A. Retinol 1. Rickets
B. Calciferol 2. Nyctalopia
C. Tocopherol 3. Scurvy
D. Ascorbic acid 4. Sterility
A B C D
a. 1 2 3 4
b. 2 1 3 4
c. 2 1 4 3
d 4 2 1 3
QUIT(HSHBHIH
A. Qligenmed 1. MebOsL 61
B. &me0dl.".Guymed 2. L Geomuim
C. GLrBsm. .Quymed 3. erosiTa
D. seosnmis sideod 4. 1060L_(H&HSHETNLD

A B C

a0 o
oW W

1 2
2 1
2 1
4 2

@ W@ ==

Which is certified the food products like juice, Jams sauce, canned

fruits and vegetables?

a. FSSAI b. FPO c. FCI

LILDJ LD, MLDEBGIT, gIer, USLUBSSUILILL
M MIBTUIHGT (LPSHeVWIBBIBEG FTeImeilILg 6187
a. FSSAI b. FPO c. FCI

Match the following

A. Thiamine 1. Beriberi

B. Riboflavin 2. Pellagra

C. Niacin
D. Pyridoxine

A B C
a. 4 2
b. 2 4 1
c. 2 4 3
d. 1 4 3

APPOLO STUDY CENTRE PH: D44-24338436, 42867545, 9840226187

3. Dermatitis
4. Ariboflavinosis

N = W W

d. AGMARK

BN B6IT, STUISMH6TT,

d. AGMARK
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A. sunder 1. GuAGLM

B. MGum. .NCemailer 2. QueoTsyT

C. pwrdler 3. GLITIDTEML 19610

D. ewuflmadler 4. emfiGumienmaiGermendlerd
A B C D

a. 4 2 3

b. 2 4 1 3

C. 2 4 3 1

d 1 4 3 2

Carbohydrates are organic compounds composed of carbon, hydrogen,
oxygen in the ratio of

a.2:1:1 b.1:2:1 c.1:1:1 d.1:1:2
STTCUTenaBL CTL_ (hH6iT  6laiLemal  HTTUG, MABL J6T WBBID  DLdHdleyen
S FLIenal B B HSHHeid CBTWIL DmSHH Gl (LI
QuUIT(BL_SH6NTGHLD

a.2:1:1 b.1:2:1 c.1:1:1 d.1:1:2

Which one of the following is fat soluble vitamins?

a. Retinol b. Calciferol  c¢. Tocopherol d. All of these
LesTeu(heueteuBmie 6lhHoleuTeirm OemIpLled SenJulld emeul L L0leT SyGL?
a. O 1germed b. smevdl.".OLymed

c. GLmBsrm.".GLyTey d. 8mal SMRIHSHID

Emphysema is caused due to

a. Diabetes mellitus b. Alcohol consumption
c. Drug addiction d. Tobacco smoking
GTbeUFIOT 6IenId GhHTenul 2 63Tl T&h GG

a. pifley Grmul b. 10z S(HBSHISHEO

c. BGumrenslIGLTHeT LWPSHD d. Lendulened LIDGHID

Match the following

A. Sarcoma 1. Connective tissue cancer
B. Carcinoma 2. Stomach cancer

C. Immunotherapy 3. Excessive thirst

D. Polyphagia 4. Interferons

E. Polydipsia 5. Excessive hunger
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A B C D E
a. 1 2 4 5 3
b. 2 1 4 5 3
C. 1 2 4 3 5
d 2 1 4 3 5
QUIT(HSHBHIH
A. gniéGsmiom 1. @wewilisHa LBmIGHTUI
B. snirdGeumiom 2. auuimm UBBIGHTUI
C. @bwBameayind 3. 9IHSLILIQUITET HTHLD
D. uredGuegwir 4. @eHTLIT..QUIT6I®H6IT
E. umedigridluim 5. @IFsluguimet L
A B C D E
a. 1 2 4 5 3
b. 2 1 4 5 3
C. 1 2 4 3 5
d 2 1 4 3 5

Consider the following

Assertion (A): When tobacco smoke is inhaled, the chemicals get
absorbed by tissues and causes harmful effects

Reason (R): Benzopyrene and polycyclic hydrocarbons present in
tobacco smoke carcinogenic causing lung cancer

a. Both A and R are true and R is correct explanation of A

b. Both A and R are true and R is not correct explanation of A

c. Aistrue and Ris false

d. Ais false and R is true

Lled1eu(heueiouBens Suuls

gBm (A): Yeosulemevenl LmasH@GhoUTIRs Siselemnlw GeudlioummL &6
FHFHHeMMe0 2 MBlehFILL(H SILTWSTLOTET allen6re|Henen 6JMLIHGS SIS 13601
smyewib  (R): yowasulemev Lemsuled GuaiBstenuflesr wBmid uTelengsefld
emaml Grraniueise Gureaims yUBBIGHTUIS SMTemldel GSHUILST6O HlenTuiyed
UBBIGHTEW  gBLGSSHIBlaBe.

a. A oppid R af wppid R esug A eB@ sflwmer alendasion@ld

b. A wBmb R #f wBmib R esug A B gilwmer elendsioaen

c. Agfl gemed R sHeup

d. A sam spemed R &

The drug most widely used against AIDS virus is

a. Zidorudine b. Miconozole c¢. Nawoxylol d. Virazole
AIDS o uitesmebed eweugerdd@ 6IdHImTed LWGTLGSHSLBD LDHHH T GuuiT
a. ma@Lmepgest b, ewoBasrGam@amed  C. HTEITENF60T60 d. aflyGamev
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Which of the following is called as “biological catalyst’?

a. Vitamin b. enzyme c. fat d. carbohydrate
SpHHWILUBBIeT 61FH ‘@ ulflwed allenaiulddl’ 6aImenpsHSILIGSBEHI?
a. el Lifler  b. ereiieng1d C. O@mapLiL d. sniGurenamt i
Match the following
A. Food and water 1. Fomite - Borne transmission
B. Mosquitos & Houseflies 2. Air - Borne transmission
C. Clothes & Syringes 3. Vehicle - Borne transmission
D. Droplets & Duet 4. Vector - Borne transmission
A B C D
a. 3 1 2 4
b. 3 4 2 1
c. 3 4 1 2
d 4 3 1 2
OLIT(HSSHIb.
A.2_ewiey LOBEBILD GevitewofT 1.OuTmeT eul) &L GHH60
B. Qsma oBmid 2.561BH Pl SLSHHIH6D
C. giemll oBmID o 3. S FHreu  gigend el
BHLSSIH60
D. addlev (o) Faigel wppid srdl  4.86L58 afl HLGHHIH0
A B C D
a. 3 1 2 4
b. 3 4 2 1
c. 3 4 1 2
d 4 3 1 2
Robert Gallo discovered HIV which causes AIDS in year
a. 1994 b. 1984 c.1988 d. 1985
ymum. BGxBeur eIl ewF o mamsGd HIV - emeyemevd semiBLIgsHs
Sbo0I(b
a. 1994 b. 1984 c.1988 d. 1985

HIV size is about

a. 10-140 pm b.10-100 pm  c¢. 140-100 pm  d. 100-140 um
aF.e9.00 ufledT LI(HLDGHT SLDTT
a. 10-140 pm b.10-100 pm  c¢. 140-100 um  d. 100-140 um

The presence of abnormal amount of sugar in urine referred as
a. Poluria b. Nocturia
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c. Hyperglycemia d. Glycosuria
FBBTSSHH60 DHBOTT Do) FTHHMT SHTewILILIBHoUSDI

a. umevluyfluam b. mrsiguyfiuim
C. emAMLILITSemeTFLOLIT d. HewensGamerouyfluim

Which of the following is an auto immune disease?

a. Asthma b.SCID  c. AIDS d. Multiple sclerosis
SIDHEMILMAUB6IMED 61FH Fl HewL ST Cpmul?

a. SLEVOGILOT b. oy @pESmenhs SHHLBTIL GHomBa] GHTul
C. 6TUIL 610 d. uevaml (B GFdHed GHmUl

Swine Flu is cause by

a. Rubella virus b. Rhina virus

c. HIN1 virus d. Alpha virus
ey STUIFFN6L 2 (HUTHGLID 6M6UT6erD

a. (pUeLeLT emeugerd b, enyGenm emeuyerd
c. HIN1 emeuyerd d. se0. .U enaugerd

Cirrhosis of liver is caused by chronic intake of

a. Opium b. Alcohol c. Tobacco d. Cocaine

8606060 Gi([(H& LD Gpmus 81D 60TL_GUMBMIGIT 61860601 CHTLTHSI
® | O®meTeuspmed gBLBHMI?

a. @Uiiuwib b. pevmamTed  C. Yanaulenev d. Garenasest
Nicotine belongs to group of drugs.

a. Stimulants  b. Narcotics c. Cannabis d. Analgesics
HlGamigeit UMBMWEF FMiTHe GUTeNd LO(HHSH DhGLD.

a. Heneyl 19sem b. Gurens O[HHSI c. aeham d. eueld Mleuryensbeit

Holandric genes are called

a. Carried by X chromosomes

b. Carried by autosomes

c. Carried by different parts of Y Chromosomes

d. Carried by X and Y Chromosomes

Gammeomewil e o36aiIH6T TR UG LD.

a. X @&Gym@uwr@ambsenmed GFUIOLIBHSILIBGH MBS

b. oy’ GLrBambsenTed GQFWOLIGGHIHLILIGH MBS

C. ueLGeuml L& & Beillev o 6iT6N Y &Cyr@om@amibaberTe
CFwWeUBSHSLILGHBSI

d. X opmid Y @CrnGun@ambsented GaFuisdLBGHSLILIGS MBS

APPOLO STUDY CENTRE PH: D44-24338436, 42867545, 9840226187




41.

42.

43.

44.

45.

46.

11| Page

Ifa:b= 4:1, then the value of Ja/b++b/a is

a.g b. 4 c.8 d. %
a:b=4:1aeled a/b+b/a -er wHr

a.g b. 4 c.8 d. %

The sum of three numbers is 38. If the ratio of the first to the second is
1:2 and that of the second to the third is 3:5 then the second number is
a.6 b.12 c. 18 d. 24

CLPGIIMI  CTeMIH6NMGT FnBH60 38.  (1pH60 OBBID EJewILMD 6T6wIHeT 1:2 616313
ABHHHHID 2 WBWID 36uH  eTewiseT 3:5 el QB HHHE0 B(HHHTED
©\T6WILT6UZH|  6T600T

a. 6 b.12 c. 18 d. 24

95 litres of mixture contains milk and water in the ratio 15 : 4. How
much more water is to be added to get a new mixture containing milk
and water in the ratio 3:1?

a. 5 litres b. 6 litres c. 8 litres d. 7 litres

95 &ILLT SHevemeuulled LITeL LOBBID SHewrewniller alHsHbd (pempGu 15 : 4
P BHheHH. SUEuTIsl Fev UILLT HewiewlT CarobalulLLIBG SiHe
A& (wpeupBul 3 : 1 S5 LIBIBBH 616060 616IaI6TE| UL LT FHeuTeurT
GairdbalILl L gI?

a.b el b. 6 &9 c.8 & d.7 &9

Third proportional of 10 and 30 is

a. 40 b. 30 c. 90 d. 33

10 1oBmId 30 Su&lwl erewidberlle cpeiBTaIS AIBSHTFFTY 6l6wT 6157

a. 40 b. 30 c. 90 d. 33
1.1.1.2:3:5 thenx:y:zis

Xy 2z

a.2:3:5 b.6:10:15 c.5:3:2 d.15:10:6
1.1.1_2:3:5, aafled X 1Y :Z eeiilg)

Xy z

a.2:3:5 b.6:10:15 c.5:3:2 d.15:10:6

Find a positive number which when increased by 17 is equal to 60

times the reciprocal of the number

a. 17 b. 15 c.8 d.3

@ Wewd elewl WHUYLST 1789 Fl BCUTH SHleOLSHGWD  HILTEIS]
SlelGeuemTenlenT  HmevSIOulesT 60  IDLRISTGID  6T6lled  DI6066I6IITeN6mTE
SHITE0T 5
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a. 17 b. 15 c.8 d.3

Which of the following number is divisible by 9?

a. 67594310 b. 96345210 c. 8576901 d. 2784224
&HBID OBTHHBLILIL (B6TTEN 6160IH6IM60 IHLEDL UGUBLD 6T6wT UITGHI?
a. 67594310 b. 96345210 c. 8576901 d. 2784224

S
25

4
505"

b, 8 7
55 " 2505 " 125 " 25

G
@ U'I|CJO

Find the wrong number in the series :

1, 3,10, 21, 64, 129, 356, 777

a. 10 b. 21 c. 64 d. 356
ot OHTLM6L SHeumTerT 6T6uTeN6M0IH BHTEMIH

1, 3,10, 21, 64, 129, 356, 777

a. 10 b. 21 c. 64 d. 356

If one fourth, half and one third of the number are added to the
number itself, then result is equal to 25. Find the number.
a. 10 b.11 c.12 d. 13

Q(H 6GTewIGWI6 [BTAIHID @(h LGHS, UTH WLBHID cpeaipsled @b UGHHemwl
985 etewiaIl 51  CFTHHT6V, HLHGWD FHI] 25 &G T, 6leNe0
SIbSD 6TUTEN6EMNIH  HEUTLM5IULIGLD.

a. 10 b. 11 c.12 d. 13

APPOLO STUDY CENTRE PH: D44-24338436, 42867545, 9840226187




MONTH OF OCTOBER
TEST IV

N

5

10

4
B

D

11

12

13

14

15

18

20

A

C

21

22

23

24

25

28

30

A

B

31

32

33

34

35

38

40

D

D

41

42

45

44

45

48

50

C

D

ORURXRTIRTIxN o
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MONTH OF OCTOBER
TEST IV

N

5

10

4
B

D

11

12

13

14

15

18

20

A

C

21

22

23

24

25

28

30

A

B

31

32

33

34

35

38

40

D

D

41

42

45

44

45

48

50

C

D

ORURXRTIRTIxN o
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MONTH OF OCTOBER
TEST IV

N

5

10

4
B

D

11

12

13

14

15

18

20

A

C

21

22

23

24

25

28

30

A

B

31

32

33

34

35

38

40

D

D

41

42

45

44

45

48

50

C

D

ORURXRTIRTIxN o
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MONTH OF OCTOBER
TEST IV

N

5

10

4
B

D

11

12

13

14

15

18

20

A

C

21

22

23

24

25

28

30

A

B

31

32

33

34

35

38

40

D

D

41

42

45

44

45

48

50

C

D

ORURXRTIRTIxN o
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